| Efficiency vs Dxy |

.05
Pad
j®)
@045
>
D.04
D
035
T
0.03
0.025
0.02
0.015

14| S SO oS 98

...................................

S et NUTS NS eSS S
.QJ-.l.Qfllll:l|||:||||:||||:|||:||||:||||:||||:||||:||||
5 f |
@ L !

1__ ................................... “ ....................................

0.95

| Efficiency vs Dz |

S ET50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TToriginal
—e— DQM_mKFit_TT_pL

—+— DQM_mKkFit_TT_pLW

nND.05
S

Y T ST S
> F

.é_?.04:— -------------------
O r

({0 JC o] uRRRTERRRE SRPRRRRES
() C /
0.03;— --------------------

0.0252— ....................
0.022— ....................

0.015

0.01Fieeeee -

..........

g S

2030
TP dz (cm)

10




	Contents
	Page 1


